Questions to Lecture 8 – Budget deficits and national debt
Maxat Kuzekov, Vadym Nechyporenko
1. Define budget surplus.    Unspent money. Excess of income over spending for a government, corporation, or individual over a particular period of time. A government with a budget surplus may choose to start new programs or cut taxes. A corporation with a surplus may expand the business through investment or acquisition, or may choose to buy back its own stock.
2. Define budget deficit.  Budget deficit is the amount by which government spending exceeds government revenue in a given time period.

3. What is currently more usual in the economies – budget deficits or budget surpluses? Did your home country run budget deficit or budget surplus last year? According to the statistics of year 2009 that I found searching the internet there is more countries in the world with budget deficit than with budget surplus. Kazakhstan finished the year 2009 with a deficit as 14% of the year’s GDP.
4. Does government have discretion (power) over the full sum of the budget? Why yes or why not? 

Government does not have full discretion over the budget. Because it can only predict budget for the next year, but can not control all the items which create the full sum of the budget. Most of the decisions about current revenues and expenditures (about 80%) are the result of decisions made in previous years. For example, government cannot control the sum of taxes from incomes and sales, because it can change unpredictably during the year. Government expenses also can change dramatically in cases of war or economical depression.
Also, you could think about the promises that the government has made in the previous years – like retirement benefits, or payment of maternity leave.                 
5. Give an example of automatic stabilizer on the expenditure side. On a given example, explain the role of this particular measure in stabilization of the economy.  For example fiscal policy could be a good example of automatic stabilizers. It attempts to stimulate an economy out of recession or constrain the money supply to prevent excessive inflation.
Be careful with the terminology – fiscal policy is the full set of decisions on the taxation changes, government expenditures etc. Automatic stabilizers are measures that accommodate the business cycle  - e.g. transfer payments – in the crisis, more people get the welfare benefits  - it provides stimulation, in the boom there are less people on welfare, etc.
6. Give an example of automatic stabilizer on the revenue side. On a given example, explain the role of this particular measure in stabilization of the economy.

One of the examples of automatic stabilizer on the revenue side would be income taxes. These taxes are important in stabilizing the economy, because they move up and down according to the value of spending and output. When people get more income – they pay more taxes, and vice-versa.

7. What is cyclical deficit? How does it change with increasing economic growth?  That portion of a country's budget deficit that reflects changes in the economic cycle. Budget positions tend to deteriorate as economies slow as tax revenues fall and welfare spending rises; they improve as economic growth returns, tax revenues rise and welfare spending is reduced. A cyclically-adjusted deficit strips out the impact that the economic cycle has on budgetary health.
8. What is structural deficit? How does it change with restrictive fiscal policy?

Structural deficit is one of the two components of total budget deficit; another one is cyclical deficit. Structural deficit equals to federal revenues at full employment minus expenditures at full employment under prevailing fiscal policy. Structural deficit decreases with fiscal restraints.   
Structural deficit is the part of deficit that is directly caused by the actions (policies) of government.

9. How does total budget deficit behave in the time of war and recession? Which part of deficit changes, cyclical or structural? It is clear that both of the types of deficit are at peak during the war. As a good example we can take the period between 1943-1945 when the U.S. economy was suffering from budget deficit.
Good idea would be also to explain why – but it wasn’t part of the question.

10. When does crowding out effect related to the existence of budget deficit occur? What is the result of crowding out effect?
Crowding out effect occurs when the government borrows funds to finance budget deficits, and the availability of funds for private-sector spending is reduced. The result would be that the increase in government expenditure will be at least partially offset by reductions in consumption and investment. 
11. What contributes to a reduction in the budget deficit in response to higher inflation?  The best way to lower the budget deficit is to get the economy to grow faster. The higher the economy's growth rate, the more tax revenues it will throw off, which, when combined with spending restraint, will shrink the deficit if both trends are maintained long enough.
Increased tax revenues – nominal value of products increases, and so do the tax revenues.

12. What contributes to an increase in the budget deficit in response to higher inflation?

When Social Security benefits are automatically adjusted to inflation, federal outlays increase as the price level rises.
13. How does government finance budget deficit?   Through citizen's taxes. If they increase spending, it is either borrowed money or taxes are increased.
Budget deficit is already the difference between revenues (taxes) and expenditures. Thus, the only way how you can finance debt is to issue bonds – i.e. borrow money either from domestic or foreign investors.

14. Define the national debt.
The national debt is the accumulated debt of the federal government.
Or any other government(.
15. Describe the ownership structure of national debt of USA. What are the interesting points connected to this ownership structure (think about the share of government agencies and special role of Social security). Most of the enormous national debt is owed by U.S. to … the U.S. itself. Mostly to the governmental agencies and federal organizations. Less money is owed to the private persons and to foreign economies.
16. Describe the ownership structure of national debt of the Czech Republic. What are the interesting points connected to this ownership structure (think about the share of government agencies and special role of Social security).

In the Czech Republic there is a strong tendency to substitute credit financing of debt with the issuance of securities. Larger part of the total debt is domestic debt (more then 70% in 1997), which is consisted of mainly treasury bills and bonds. Long-term bills and bonds and short-term ones are equally distributed.
I would also mention that households and government own a negligible part of debt, so the debt is in the hands of financial institutions, most of them having a foreign owner.

17. Find out the indebtedness of your own country. How much debt does each citizen of your country owe? (calculate as the ratio of debt to the population size). The 2009 debt of Kazakhstan was $25bil. Every Kazakhstani owes $1562.
18. How can a government reduce national debt?

Government should eliminate the budget deficits that create debt. Firstly it should set a deficit ceiling, and secondly, call for automatic cutbacks in spending, if government fails to keep the deficit below the ceiling.
19. How can a government refinance national debt. What are the risks associated with refinancing? Government can start giving back money for the bonds it was selling to citizens. The most obvious threat of a such action is further increase of inflation because the money would go to private sector.
Refinancing simply means issuing new bonds to cover the repayment of the old ones with due maturity. Main thread is that with each re-financing the interest rate that government has to pay to investors is increasing, and that this cannot go on forever. 

20. What is the debt service? Imagine a situation in which a country runs a budget deficit one year, and has balanced budget since then. Would the national debt increase/decrease/remain constant over time? Why? 

Debt service is the interest required to be paid each year on outstanding debt. In the case, when a country has balanced budget, there is neither surplus budget nor deficit budget present. However, as a country must pay debt service each year, then the debt should decrease over time. And if the country has no deficit budget after the payment of debt service then the budget is balanced.

No, the problem is that if you issue debt and afterwards you run balanced budget, you do not have extra money to pay the debt service. SO you have to borrow money to pay the interest payments, and have to continue borrowing in the next periods, so your indebtedness increases .
21. What  are the opportunity costs of debt? When are they incurred? One of the opportunity costs of the debt is financing pension funds or raising salary for police officers.
Opportunity costs of debt are primarily the opportunity costs of gv. Expenditures that were financed from this debt. I.e. if the country built a highway, opportunity costs are construction of hospital, etc.

22. What is external debt? In what aspects is external financing of debt different from internal financing?
External debt is a part of total debt of a country, which is owed to creditors outside the country. External financing allows us to get more public-sector goods without cutting back on private-sector production. As long as foreigners are willing to hold U.S. bonds, external financing imposes no real cost. 
23. What is debt ceiling? Can you give example of country with imposed debt ceiling?   
The maximum amount of debt which a governmental unit is legally permitted to incur. A good example would be U.S. with a debt ceiling $12,200 trillions.
24. What implication does the ageing workforce have on the expectations of evolution of budget deficit?

Ageing workforce makes the budget deficit wider. That is because people retire earlier and they stop paying taxes on income, but they get their pension benefit from the government.

